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(ฝ )ฝฝฝ ฝฝฝฝฝฝ ฝฝฝ ฝ ฝฝฝฝฝฝฝ ฝฝฝฝ ฝฝฝฝฝ ฝฝฝ ฝฝฝ ฝฝฝฝ ฝฝ ฝฝฝ ฝฝฝฝฝ ฝฝ ฝ ฝฝฝฝฝฝ ฝ ฝฝฝฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝฝ7 9/ ฝ ฝ

ฝฝฝฝฝ ฝฝฝ ฝฝฝ ฝฝฝ ฝ ฝฝฝฝฝฝ ฝ ฝฝฝฝฝฝฝฝฝฝ ฝฝฝฝฝฝฝฝฝฝฝฝฝ ฝฝ ฝ ฝฝฝ ฝฝฝ ฝ ฝ ฝฝฝฝฝ ฝ (ฝฝฝฝฝ )ฝฝ ฝฝฝฝฝฝฝฝฝ ฝ ฝฝฝ ฝ ฝ ฝฝฝฝฝ ฝฝฝฝ ฝ
ฝฝ

7 ฝ0ฝ/(ฝ )ฝฝ ฝ ฝฝฝฝฝ ฝฝฝ ฝ ฝฝฝ ฝ ฝฝฝฝฝฝฝ ฝ ฝ ฝฝ ฝ ฝฝฝ ฝฝ ฝฝ ฝฝฝ ฝฝฝ ฝ ฝฝ ฝ ฝฝฝฝ ฝฝฝ ฝฝฝฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝฝฝ ฝฝฝฝ7
ฝฝฝฝ ฝ ฝฝฝ ฝฝฝ ฝฝฝ ฝ ฝฝฝ ฝฝ ฝฝฝ ฝ ฝฝฝฝฝ ฝ ฝฝฝฝ ฝฝฝฝฝ ฝ ฝ ฝ ฝฝ ฝ ฝฝฝ ฝ ฝฝฝ ฝ ฝฝ ฝฝฝฝ ฝฝฝ ฝฝ ฝฝฝฝ ฝ ฝฝฝ ฝ ฝ ฝฝฝ ฝ ฝ (ฝ ฝฝ ฝฝ) ฝฝฝฝ ฝฝฝฝ ฝฝฝฝฝฝฝฝฝฝฝ ฝ ฝ

ฝฝ ฝฝ (ฝ ฝฝฝฝ ) ฝฝฝฝ ฝฝฝฝฝ ฝฝฝฝ ฝฝฝ ฝ ฝ ฝฝฝฝฝ ฝฝฝฝ ฝ

(ฝ ) ฝฝ ฝ ฝ ฝฝ
ฝฝ ฝฝฝฝฝฝฝ ฝ ฝฝ ฝ ฝ ฝฝฝฝ ฝฝฝ ฝ ฝ ฝฝ ฝ ฝ ฝ ฝฝฝฝ ฝ ฝ ฝฝ ฝ ฝ ฝฝฝ ฝฝฝ ฝ ฝฝ ฝฝฝ ฝฝฝ ฝฝฝ ฝ ฝฝ ฝฝฝ ฝ

ฝฝฝ ฝฝ ฝฝฝฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝฝ ฝฝ ฝฝ ฝ ฝฝ ฝฝฝฝฝฝ ฝฝฝฝ ฝ ฝฝฝฝ ฝฝฝ ฝ ฝ ฝ ฝฝ ฝฝฝฝ ฝ ฝฝฝ ฝฝ ฝฝ ฝฝ ฝ ฝฝฝฝฝ ฝฝฝ ฝ (ฝฝฝฝฝ ) ฝฝฝ ฝฝ ฝฝฝฝ ฝฝฝฝ ฝ ฝ ฝฝฝฝ

ฝฝฝ ฝฝ ฝฝ ฝฝ ฝ ฝฝ ฝฝฝฝฝฝฝฝฝฝ ฝฝฝ ฝฝฝ ฝฝฝ ฝ ฝฝ ฝฝฝ ฝฝฝฝ ฝ ฝฝ ฝฝฝ ฝ ฝ ฝฝ ฝ ฝฝ ฝฝฝฝฝฝฝฝฝฝฝ ฝฝฝฝฝ ฝฝฝฝ ฝ ฝฝ ฝ ฝฝฝฝฝ ฝฝฝฝ ฝ ฝฝฝฝ ฝฝฝฝฝฝฝฝ ฝ ฝฝฝ ฝ ฝ ฝฝ ฝ

ฝฝ ฝ

ฝ
ฝฝ ฝ

ฝ

ฝ
ฝ ฝ ฝ ฝ

ฝ
ฝฝ

ฝ
9/ 1 ฝ ฝ 1 ฝ ฝ

ฝ
ฝ ฝฝ ฝ

(ฝ ) ฝฝ ฝ ฝ ฝฝ ฝฝ ฝ ฝ

ฝ
ฝ

ฝ
ฝฝ

ฝ
ฝฝ ฝ

ฝ
ฝฝฝ

ฝ
ฝฝ ฝ ฝ

ฝ
ฝ

ฝ
ฝฝ

ฝ
ฝฝ ฝ ฝ

ฝ
ฝ ฝ ฝ ฝ

ฝ
ฝฝฝ ฝฝ

ฝ
ฝ ฝฝฝ

ฝ
ฝฝ

ฝ
ฝ

ฝ
ฝ ฝ

ฝ
ฝ ฝ

ฝฝ ฝ ฝ

ฝ
ฝ

ฝ
ฝ ฝ ฝฝ ฝ
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ฝ ฝฝ ฝฝ

ฝ
ฝฝ ฝ ฝ

ฝ
ฝ

ฝ
ฝ ฝ ฝ ฝ

ฝ
ฝ ฝ

ฝ
ฝฝฝ ฝฝ (ฝ ) ฝ

ฝ
ฝ ฝ (ฝ ) ฝฝ ฝ ฝฝ ฝฝ

ฝ
ฝ ฝ

ฝ
ฝฝ ฝฝ ฝฝ ฝฝ ฝ ฝ

ฝ
ฝฝ

(ฝ ฝฝ

ฝ
ฝ ฝ ฝ ฝฝ ฝ

ฝ
ฝ ฝฝ

ฝ
ฝ ฝ

ฝ
ฝ ฝ

(ฝ . ฝ )

ฝ
ฝ ฝ ฝฝ ฝ

ฝ
ฝ ฝฝฝ ฝ ฝ ฝ

ฝ
ฝฝ

ฝ
ฝ ฝ ฝ

ฝ
ฝฝ ฝ

ฝ
ฝฝ ฝ ฝ ฝ

ฝ
ฝ ฝ ฝฝ

ฝ
ฝฝ ฝ

ฝ
ฝ

ฝ
ฝ (ฝฝฝ ฝ ฝ )



(ฝ . ฝ)

ฝ
ฝ ฝ ฝฝ ฝ

ฝ
ฝ ฝฝฝ ฝ ฝ ฝฝ ฝฝ ฝฝ

ฝ
ฝ ฝ ฝ ฝฝ

ฝ ฝ

ฝ
ฝ

ฝ
ฝฝ ฝ ฝ

ฝ
ฝ ฝ ฝ

ฝ
ฝ ฝ ฝ ฝฝ

ฝ
ฝฝ ฝ

ฝ
ฝ

ฝ
ฝ (ฝฝฝ ฝ ฝ )

(ฝ ฝ )

ฝ
ฝ ฝ

ฝ
ฝ ฝฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝฝ ฝ ฝ

ฝ
ฝ ฝ ฝ ฝ

ฝ
ฝ ฝ ฝ

ฝ
ฝ

ฝ
ฝฝ

ฝ
ฝ ฝฝ

ฝ
ฝ ฝ

(ฝ @)

ฝ
ฝ

ฝ
ฝ ฝ ฝฝ ฝ

ฝ
ฝ ฝ ฝ ฝ ฝ

ฝ
ฝ

ฝ
ฝ ฝ

ฝ
ฝฝ

ฝ
ฝ ฝ

ฝ
ฝ

ฝ
ฝ

ฝฝ
ฝฝ

ฝ
ฝ

ฝ
ฝ ฝฝ

ฝ
ฝ ฝฝ

ฝ
ฝ ฝ ฝ ฝฝ ฝ ฝ ฝ ฝ ฝ ฝ

ฝ
ฝ ฝ ฝ

ฝ
ฝ ฝ ฝ

ฝ
ฝ

ฝฝ
ฝฝ

ฝ
ฝฝ

ฝ

ฝ
ฝ ฝ ฝฝ ฝ ฝ ฝฝ

ฝ
ฝฝ ฝ

ฝ
ฝ ฝฝ

ฝ
ฝ ฝ ฝ ฝ

ฝ
ฝ ฝ

ฝ
ฝ ฝ ฝ ฝ ฝฝ ฝ ฝฝ ฝฝ ฝ ฝ .

ฝ
ฝ (ฝ ) ฝฝ ฝ ฝฝ ฝ ฝฝ

ฝ
ฝ ฝฝ ฝฝฝ

ฝ

ฝ
ฝ ฝฝ ฝ 0 [“@ (2 ฝ ฝ ฝ ฝ 1@ 0ฝ6ฝ ฝ ฝ ฝ

ฝฝ ฝ ฝ ฝ ฝฝ 0)
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ฝ
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ฝ
ฝ

ฝฝ
ฝ

ฝฝ
ฝ

ฝ
ฝ ฝฝ

ฝ
ฝ

ฝ
ฝ

ฝ
ฝฝ ฝ ฝฝ ฝ ฝ

ฝ
ฝ ฝ ฝฝ

ฝ
ฝ

ฝ
ฝ ฝ ฝฝฝ ฝฝ ฝ ฝ ฝฝ ฝ ฝ

ฝ
ฝ ฝ

ฝ
ฝ

ฝ
ฝ

ฝ
ฝ ฝ ฝฝ ฝ

ฝ
ฝ ฝ ฝ

ฝ
ฝ ฝ ฝ

ฝ
ฝ ฝ

ฝ
ฝ ฝ

ฝฝฝฝ
ฝฝ ฝ

ฝ
ฝ ฝ ฝ ฝฝ ฝฝ ฝ ฝ

ฝ
ฝ ฝ ฝ

ฝ
ฝฝ

ฝ
ฝ ฝ

ฝ
ฝ ฝฝ

ฝ
ฝ ฝฝ ฝ

ฝฝ
ฝ

ฝ
ฝฝ ฝ

ฝ
ฝ ฝฝ ฝ

ฝ
ฝ ฝ ฝ

ฝ
ฝ ฝ

ฝ
ฝ ฝ ฝ

ฝ
ฝ ฝฝ ฝ

ฝ
ฝฝ ฝฝ ฝฝ ฝ

ฝ
ฝ ฝ ฝ

ฝ
ฝ ฝ ฝ

ฝ
ฝ ฝ ฝ ฝ ฝ ฝฝฝ ฝฝ ฝฝ ฝ ฝ . ฝ (ฝ )

ฝฝฝฝฝ ฝ ฝฝ ฝฝฝฝฝฝฝ ฝ ฝฝ ฝฝฝฝ ฝ ฝฝฝ ฝ ฝฝฝฝ ฝฝ ฝฝ ฝฝ ฝฝฝ ฝ ฝ ฝฝฝ ฝฝฝ ฝฝฝฝ ฝฝฝ ฝ ฝ ฝฝ
ฝฝฝ ฝฝ ฝ 0 [5 ฝ (ฝฝฝฝฝฝ ฝ ฝ ฝฝ ฝฝฝ ฝฝ1 ฝฝ ฝ ฝฝฝฝ

ฝฝฝฝฝ ฝ ฝฝฝ ฝ ฝฝฝ ฝฝฝ ฝฝ ฝฝฝฝ ฝ ฝฝฝฝ ฝ ฝฝฝ ฝฝฝฝ ฝฝฝฝฝฝฝ

(ฝ ) ฝฝ ฝ ฝ ฝฝฝฝฝ ฝฝฝฝฝฝฝฝฝ ฝ ฝฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝฝฝ ฝฝ ฝฝฝฝ ฝ ฝฝฝ ฝฝฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝฝ ฝ ฝฝ ฝฝฝฝ ฝฝฝฝ ฝฝฝ ฝ ฝ ฝ

ฝฝฝ ฝ ฝฝฝฝ ฝฝฝ ฝฝฝ ฝ ฝ ฝ ฝฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝฝ ฝ ฝ ฝ ฝฝฝฝ ฝฝ ฝ ฝฝฝฝ ฝ ฝฝ ฝ ฝ ฝฝ ฝ ฝฝฝฝฝ ฝฝฝ ฝ ฝ ฝ ฝ ฝฝ ฝ ฝฝ ฝฝฝฝฝ ฝ ฝฝฝ ฝ ฝฝฝ ฝฝฝฝฝฝฝฝ ฝ ฝ

ฝฝฝฝฝฝฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝ ฝฝฝฝฝฝฝ ฝ ฝ ฝฝ ฝ ฝฝฝ ฝ ฝฝฝ ฝฝ ฝฝฝฝ ฝฝฝฝฝ ฝ ฝ ฝฝฝฝฝฝฝฝฝฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝฝ ฝ ฝฝฝฝฝฝ ฝฝฝ

(ฝ ) ฝฝ ฝฝฝ ฝ ฝฝ ฝฝฝ ฝฝ ฝ ฝฝฝฝฝ ฝ

(ฝ . ฝ )ฝฝ ฝ ฝฝ ฝฝฝ ฝฝฝ ฝ ฝฝฝฝ ฝ ฝฝฝฝ ฝฝฝฝ ฝ ฝฝฝ ฝ ฝ ฝฝฝฝฝ ฝฝฝฝ ฝ

(ฝ . ฝ )ฝฝ ฝ ฝฝ ฝฝฝฝ ฝ ฝ ฝ ฝ ฝฝ ฝฝฝฝ ฝฝ ฝฝฝฝ ฝ ฝฝฝ ฝ ฝ ฝฝฝฝฝ ฝฝฝ ฝ ฝ

(ฝ )ฝฝ ฝ ฝฝ ฝ ฝฝ ฝฝฝฝ ฝฝฝฝฝ ฝ ฝ ฝฝฝฝฝฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝฝฝ ฝฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝฝ ฝ ฝฝ ฝ ฝฝฝ ฝ ฝ (5!65)

(ฝฝฝ ฝ ฝ )

(@ฝฝฝฝฝ ฝฝ ฝฝฝ ฝ ฝ ฝ ฝฝฝ ฝฝฝฝฝฝฝฝ ฝ ฝฝฝฝฝฝฝฝฝฝ ฝฝฝ ฝฝฝ ฝฝฝ ฝ ฝ ฝ ฝฝ ฝ ฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝฝฝ ฝฝฝฝฝ ฝฝฝฝฝ

ฝฝฝ ฝ ฝฝ ฝ ฝ ฝฝฝฝฝ ฝฝฝ ฝฝ ฝฝฝ ฝ ฝฝฝ ฝ ฝฝฝ ฝ ฝ ฝฝฝฝฝฝฝฝ ฝ . ฝ (ฝ ) ฝฝฝฝฝ ฝ ฝฝฝฝ ฝฝ ฝฝฝ ฝฝฝ ฝฝ ฝ 50 5 ฝ @ (2 ฝ ฝ ฝฝฝ 01@ 0ฝ6ฝฝฝฝ ฝฝฝ

ฝฝ ฝ ฝ ฝ ฝ ฝฝฝฝฝฝฝฝ
ฝฝ
ฝฝฝฝฝฝฝฝฝฝฝฝ ฝ ฝฝ ฝ ฝฝฝ ฝ ฝฝ ฝฝฝ ฝ ฝ ฝฝ ฝฝฝฝฝ ฝฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝฝฝฝ ฝฝ ฝฝ ฝฝฝ ฝ ฝฝฝ ฝ ฝฝฝ ฝ ฝฝฝ

ฝฝฝฝ
ฝฝ ฝฝฝฝฝฝฝฝฝ ฝ ฝฝฝ ฝฝฝฝฝฝฝฝฝฝ ฝฝฝ ฝ ฝฝฝฝ ฝฝฝฝฝ ฝฝฝ ฝฝ ฝฝฝ ฝฝฝ ฝ ฝฝฝ ฝ ฝฝฝ ฝฝ ฝ ฝฝฝ ฝฝ ฝฝ ฝฝฝ ฝฝฝ ฝฝฝฝฝ ฝ ฝ ฝ ฝ ฝฝฝฝฝฝฝฝ ฝ .ฝฝ (ฝ )

ฝฝฝฝฝ ฝ ฝฝ ฝฝฝฝฝฝฝ ฝ ฝฝ ฝ ฝ ฝฝ ฝ ฝฝฝฝฝฝ ฝฝฝฝฝฝ ฝฝ ฝ ฝฝฝ ฝ ฝฝฝ ฝฝฝ ฝฝฝฝ ฝฝฝ ฝ ฝฝฝ
ฝ ฝฝฝฝฝ 05 [ฝ (5 ฝ ฝฝฝฝ!6 0 ฝ ฝ ฝฝฝฝฝ 1 ฝฝฝฝฝ ฝฝฝ

ฝ.ฝฝ ฝ ฝฝ ฝฝฝ ฝ ฝ ฝ

ฝ . ฝ ฝฝฝฝฝฝฝฝฝ ฝ ฝฝ ฝ ฝฝฝฝ ฝฝฝ ฝฝฝฝ ฝ ฝฝ ฝ ฝ ฝฝ ฝ ฝฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝฝฝ ฝฝฝ ฝ ฝฝฝฝฝฝฝฝฝฝ ฝฝฝ ฝ ฝฝฝฝ ฝฝฝฝฝ ฝฝฝ ฝฝฝฝ ฝ ฝฝฝ ฝ ฝฝฝ ฝฝฝ ฝฝฝ ฝ ฝฝฝ ฝฝฝฝ ฝ ฝฝ ฝฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝฝฝฝ ฝฝฝ ฝฝฝ ฝฝฝฝฝ ฝฝฝฝฝ ฝฝฝ ฝฝฝฝฝฝฝฝ ฝฝ ฝฝฝฝฝฝฝฝ ฝ ฝฝ ฝ ฝ ฝฝฝฝ ฝ ฝ ฝ ฝ ฝ

ฝฝ ฝ ฝ ฝฝฝ ฝฝ ฝ ฝฝ ฝ ฝฝฝฝ ฝ ฝ ฝ ฝฝฝฝ ฝฝฝฝฝฝ ฝฝฝ ฝ ฝฝฝ ฝฝ ฝ ฝฝฝฝ ฝ ฝฝ ฝ ฝ ฝฝ ฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝฝฝฝฝฝฝ ฝ ฝ ฝฝ ฝ ฝฝ ฝฝฝฝฝฝฝ ฝ ฝฝ ฝ ฝฝฝฝฝฝ ฝ ฝฝฝ ฝ ฝฝ ฝฝฝ

ฝฝ ฝ ฝ ฝ ฝฝฝ ฝฝฝฝ ฝ ฝฝ ฝ 50 ฝฝฝ ฝฝ (2 ฝ ฝฝ ฝ! ฝฝ0ฝ ฝ ฝฝฝ ฝ ฝ [ ฝ ฝฝฝฝฝ
ฝฝ ฝฝ ฝ ฝ ฝ ฝฝฝฝ ฝ ฝ ฝ ฝ ฝฝฝ ฝฝ ฝ ฝ ฝ ฝฝฝ ฝฝฝฝ ฝฝ ฝฝฝ ฝ ฝ ฝฝ ฝ ฝฝ ฝฝฝ ฝฝฝ ฝฝฝฝฝ ฝ ฝฝฝ ฝฝฝฝ ฝฝ ฝฝฝ ฝฝ ฝ ฝฝฝ ฝ

ฝ = ฝ ฝ ฝฝฝฝฝฝฝ ฝฝ/ฝ/
ฝฝฝฝ ฝฝฝ ฝ ฝฝ ฝ ฝ ฝฝฝฝฝ ฝ ฝ ฝฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝฝฝฝ ฝ ฝฝฝฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝ ฝฝฝฝฝ ฝ ฝฝ ฝ ฝฝฝฝฝฝฝฝฝ ฝ ฝฝฝฝฝ ฝฝฝ ฝฝ ฝฝ ฝ ฝ ฝฝฝ ฝ ฝฝฝ ฝฝ ฝฝฝ ฝ ฝ

ฝ ฝฝ | ฝ ฝ 2ฝ/ ฝ7 ฝ/ฝฝ ฝ/”ฝ7ฝ/ ฝ / 1ฝ2ฝ/ฝ
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ฝฝ ฝฝฝฝ ฝ , ฝ ฝฝ., ฝ ฝฝ ฝฝฝฝ = ฝฝ ฝ ฝฝ ฝฝ ฝฝฝ ฝ)
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@ฝฝ! ฝฝฝฝ ฝฝฝฝฝฝ ฝฝ| ฝฝฝฝฝฝฝฝฝฝฝฝ7ฝฝ

(ฝ ) ฝฝฝฝฝฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝ ฝ ฝฝฝ ฝฝ ฝ ฝฝฝฝฝฝ ฝ ฝฝ ฝ ฝ ฝ ฝฝฝฝ ฝฝ ฝฝฝฝฝฝฝฝ ฝฝ ฝ ฝฝ ฝ ฝฝฝ ฝฝฝฝ ฝ ฝฝฝฝ ฝฝ ฝฝฝ ฝ ฝฝฝ ฝฝฝ ฝ ฝฝฝฝ ฝฝฝฝฝฝ ฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝฝ

, ฝ ฝ ฝ ' ฝ ฝ
ฝ

.

ฝ ฝ ฝ ฝฝฝ ฝ ฝฝฝ ฝฝฝฝฝ ฝ ฝฝ ฝฝฝฝ ฝ ฝฝฝฝฝฝ ฝ ฝฝ ฝฝฝ ฝ ฝฝฝ ฝฝ ฝ ฝฝฝฝ ฝฝ ฝ ฝฝฝ ฝ ฝฝฝ ฝฝฝฝฝ ฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝฝ ฝฝฝฝ ฝ ฝฝฝ ฝฝ ฝ ฝฝ ฝ ฝ

ฝ ฝ ฝ ฝฝฝ ฝฝฝ ฝ ฝ ฝ ฝฝ ฝ ฝ ฝฝฝฝฝ ฝฝฝ ฝ ฝ ฝฝ ฝฝฝฝ ฝ ฝฝฝฝฝ ฝ ฝ ฝ ฝ ฝ ฝฝฝฝ ฝ ฝ ฝฝฝ ฝ ฝฝฝฝฝ ฝ ฝ ฝฝฝ ฝ ฝฝฝ ฝ ฝฝ ฝฝฝ ฝ ฝ

ฝ ฝฝฝฝฝ ฝ ฝ7 ฝ ฝ ฝ7ฝฝฝ7 ฝฝ ฝ ' ฝ 4
ฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝฝ ฝฝ ฝฝ ฝ ฝฝฝ ฝฝฝฝ ฝฝฝฝฝฝฝ ฝฝฝฝ ฝ ฝ ฝฝฝฝฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝ ฝฝฝฝ ฝ ฝ ฝ ฝฝ ฝ ฝฝฝ ฝ ฝฝฝ ฝฝฝ ฝ ฝฝ ฝ ฝฝฝ ฝ ฝ ฝฝฝฝ ฝฝ ฝ ฝ ฝ ฝ ฝ ฝฝ ฝ ฝ . ฝ (ฝ )

ฝ

1 ฝฝฝ ฝฝฝฝ7 7 1 ฝ 'ฝ7 ฝฝ
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ฝฝฝฝฝฝฝฝฝ ฝ ฝฝ ฝ ฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝฝ ฝฝฝฝ ฝฝฝฝฝฝฝฝฝฝ ฝ ฝ ฝฝ ฝ ฝ ฝฝ ฝฝฝฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝฝ ฝ ฝ ฝฝ ฝ ฝฝฝฝฝฝฝฝฝฝฝฝฝ ฝ ฝฝฝฝ ฝฝฝ ฝฝฝฝ ฝฝฝฝ ฝฝ ฝ ฝฝฝ ฝ

ฝ 1 ฝ 2 = - (ฝฝ ฝฝ =ฝ) ฝฝ2 ฝฝ= ฝ ฝ 1 ฝ 1ฝฝฝฝ

ฝฝฝฝ ฝฝ ฝ ฝฝฝ ฝ ฝฝฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝฝ ฝฝ ฝฝฝฝฝ ฝฝ ฝ ฝฝฝฝฝฝ ฝ ฝฝ ฝ ฝฝฝ ฝ ฝฝฝฝฝ ฝ ฝฝ ฝ ฝฝ ฝฝฝฝ ฝฝฝ ฝฝฝฝ ฝฝฝฝ ฝฝฝ ฝ ฝ ฝ ฝฝฝ ฝฝฝ ฝ ฝ ฝฝฝ ฝ ฝฝฝฝฝฝฝฝฝฝ ฝ ฝ ฝฝฝ ฝ ฝฝฝ ฝ ฝฝ ฝ ฝ

ฝ ฝฝฝฝ ฝฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝฝ ฝฝ ฝ ฝ ฝฝ ฝฝฝฝ

ฝฝ %/ 2/ - ฝฝ/ฝฝ
ฝ . ฝฝฝฝ ฝฝฝ ฝฝฝฝฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝฝฝฝฝฝฝฝ ฝ ฝ ฝ

(ฝ )ฝฝฝฝฝฝฝฝ ฝฝฝฝฝ ฝฝฝฝฝฝฝฝ ฝฝฝ ฝ
ฝฝ ฝ ฝฝ ฝฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝฝฝฝ ฝฝฝ ฝ ฝ ฝฝฝ

| ฝ ฝฝ  !ฝฝฝ| =ฝฝฝ ฝ ฝฝฝฝ ฝฝฝ

(ฝ )ฝฝ ฝ ฝ ฝ ฝฝฝฝ ฝ ฝฝฝ ฝ ฝ ฝฝฝฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝฝฝ ฝ ฝ ฝฝ ฝฝฝฝ ฝฝฝ ฝ ฝฝฝฝฝฝฝ ฝ ฝฝ ฝฝฝฝฝฝ ฝ (ฝฝฝฝฝ ) ฝ ฝฝฝ ฝฝฝฝฝ

ฝฝฝ ฝฝฝฝ ฝฝฝ ฝ ฝฝ ฝฝฝฝ ฝ ฝฝ ฝฝ

(ฝ ฝ

ฝฝ
ฝฝฝ ฝฝฝฝ ฝ ฝฝ ฝ ฝ ฝ ฝฝฝฝ ฝ ฝ ฝฝฝ ฝฝฝ ฝฝฝฝ ฝฝฝ ฝฝฝฝ ฝฝฝฝฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝฝ ฝ ฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝฝ ฝฝฝฝ ฝฝฝ

ฝฝฝ ฝ ฝ ฝ

(ฝ

ฝฝ
ฝฝฝ ฝฝฝฝ ฝ ฝฝ ฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝ ฝฝ ฝฝฝฝฝฝฝฝฝฝฝฝ

(ฝ ฝฝฝฝฝฝฝฝฝ ฝ ฝฝ ฝ ฝฝฝฝ ฝ ฝฝ ฝ ฝฝ ฝฝ ฝฝฝ ฝ ฝ ฝ ฝฝฝฝฝฝ ฝฝ ฝฝ ฝ ฝ ฝ ฝ ฝฝ ฝ ฝ ฝ ฝฝ ฝ ฝ ฝ ฝฝ ฝฝฝ ฝฝฝ ฝฝฝฝฝฝฝฝ

ฝฝฝฝฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝ ฝฝฝฝ ฝ ฝฝฝ ฝ ฝฝฝ ฝฝ ฝ ฝ ฝ ฝฝฝฝฝฝ ฝ ฝฝฝฝฝ ฝ ฝฝฝฝ ฝฝ ฝ ฝฝ ฝฝฝฝ ฝฝฝฝฝฝฝฝ

ฝฝ
. ฝ 01 ฝ 6 ฝ ฝ ฝฝฝ ฝฝ1. ฝ 0. ฝฝ
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ฝฝฝฝ ฝ ฝฝฝฝฝฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝฝ ฝ ฝ ฝฝ ฝ ฝ ฝ ฝฝฝฝฝฝฝ ฝฝฝ ฝฝฝ ฝ ฝ ฝ ฝฝฝ ฝ ฝ ฝ ฝ ฝ ฝฝฝฝฝฝฝ
ฝ.
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